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_ v Two workers A and B working together combleted a
h Q+b)= g@ifﬁ) job in 5 days. If A worked twice as efficiently as he

1

actually did and B worked 3 as efficiently as he

_ actually did, the work would have been completed in
B éa "'L 3 days. To complete the job alone, A would require

ab N HHAT A qT B 7 k-9t e T & 5 5= 5 qa
— &+ fm afs 399 A 3 319+t ar<afass swar 9 SIET &H dan

(]
4‘8— [ ~ P 1
T b o 1 foran g 3 B 3 379+ arafass eHar 9 5 &
o e foean grar, @i a2t s 3 i3 ° 9 81 Sian 98949,

A 3Tehell 98 1A Tohdd T&AT ° U sRT Wehal on?

5a +5b

1 1
1) 55 days / feq (2) 62 days / feq

1 3
75 days / f<9 (4) SZ days / f&=




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A tank can be filled by pipe A in 2 hours and pipe B
in 6 hours. At 10 A.M. pipe A was opened. At what

time will the tank be filled if pipe B is opened at 11
A.M.? )

Uk Zh! ol Toil A R 2 Sl § 9 ST Gehdl € 3 et
B g6 Fa U | Wd: 10 & el A il @A fgam Tam
ISR, IS et B 1 o 11 o1 9md: el fear <,

Zohl fohd WHT doh QU A SIWT?
(1) 12.45 A.M. / 91d: (2) 5 PM. / 99
1.45 A.M. / 91d: (4) 12 PM. / 99

mﬁ A
13
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The ratio of length of two trains i@: 3 and the ratio
of their speed is 6 : 5. The ratio of time taken by
them to cross a pole is

< TS Bl o Edl 5:3 % AU H ® qUT ShI
oA 6:5F UG H Bl Th @ 0 H ST
SN folq ™ &9 1 AU &M
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A train 270 metres long is running at a speed of 36
/ km per hour, then it will cross a bridge of length 180
metres in :

270 HieX @et Teh Lermel, 36 TRt gfa =er &t 1fa 9 =«
Wl B qSIER, 98 180 WX o« Th 4ot &l foha w0 o

IR T ol ?
(1) 40 sec/¥. (2) 45 sec/H.
(3) 50 sec/H. (4) 35 sec/H.
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The length of a string between a kite and a point on
the ground 1s 90 m. The string makes an angle of
60° with the level ground. Assuming that there 1is
no slack in the string, then the height of the kite is:

heygtd T e &R gft = feom ™ T fag & A=

Teh SR &1 oarg 90 Hl. 81 S gfads & 60°
=T 10T AT @1 I8 | 84 foh S # i

~
l

A 98 °, I 1 AR T hifey|
(a\ZS J/3m (b) 5./3m

(¢) 50./3m (d)
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\/ Lfe average of the first nine integral multiples of

3% Ygdd Al HHR YOS o g—
(1) 21 (2) 12 15 (4) 18
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A man borrows ¥ 21000 at 10% compound inter-
est. How much he has to pay annually at the end
of each year, to settle his loan in two years ?
Teh RHT 10% Fhdfg s T 21000 FIT T F0T ol
21 BTy & Ad | S SUR fohaqt ufy < w2 foR
qui H RO T ST ?

1,2000 4 12100 (3) T 12200 (4) T 12300

1) 3
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A sumMy lent out at simple interest amounts
to X 720 after 2 years and to 1020 after a further

. . = X
period of 5 years. The sum is:

IR0 S W his GAURT 2 991 % a5 720 %o B
SIdl @ de 5 3R 3ifeekr oo & &g 1020 To & St

g | 9% IR T

(1) T 500 \Aoo (3) 700 (4) T 710
PN
jui “Jrézo

7 L’O

P~ +30 —&x(o
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The perimeter of two squares are 40 cm and 32 cm.
The perimeter of a third square whose area is the
difference of the area of the two squares is

(o,
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The ratio of the area_of a square to that of the square
drawn on its diagonal is:

frdl o7 & %A 1 IHh faevl W Eid T 9 &

SAhel ¥ 37U BT
(1)1 :1 21:2 _3)1:3 (41:4
//// \\\\\\
<\ Y 4 al4
\ T
\. (V24
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The average age of a husband and wife, who were
married 4 years ago, was 25 years at the time of their
marriage. The average age of the family consisting of
husband, wife and a child, born during the interval is
20 years today. The age of the child is

U Ufd TR ucil, TS eht 4 o9 qd oIt g2 o, o1 ORI &
T SEd g 25 99 offl one ufier, feew ufq, e
den i w1 Stafy o Ue e diel Tk o=l 9t €,
! 3fEd 3T 20 99 81 a=49 & Y B

(1) 1 year/'orﬁf (2) Zyears/al'ﬁlc

(3) 2.5 years / J9 (4) 3years/ﬁl'5|C
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The height of a tower is 100 m. When the angle of
elevation of the sun changes from 30° to 45°, the
shadow of the tower becomes x mertres less. The
value of x 1s :

Teh HHEAR i S8 100 HX Tl 5 g o1
I=IF SRl 30° § 45° a<adl 2, df HIAR <kl
qIBIE x T2 8 Bl Sl 81 x k1 |9 /=1 812

(@) 100 m (b) 100 (/3 —1)m

1003 —1 100
m

(<) NG (d) S m
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A reduction of 20% in the price of salt enabled a pur-
chaser to obtain 4 kg. more for I 100. The reduced
price of salt per kg is :

T9% o God H 20% i HHI 3 W Th @R 100
T A 4 fH e 3R Tl O € | T hT T g
e ufd R B

(1) 4 (2) 5 (3)76.25 (4)6.50
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A shopkeeper sold an article at a loss of 20%. But if
he could sell it at ¥ 200 more, he could earn a profit
of 5%. The cost price of the article is

Ush FohMER Teh WMHM i 20% B W =1 oferd afg
g 39 200 T9F Aty ¥ =1 BT d@ 39 5% N Bl
I&] hl1 HIYH g -

(1) ¥ 800 (2) ¥ 1,000 (3)%F 1,200 (4) * 600
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The marked price of a watch isI 1,600. The shopkeeper
gives successive discounts of 10% and x% to the

customer. If the customer pays I 1,224 for the watch,
the value of x is

Tk TS 1 Afehd ged T 1,600 B1 ST fashal T
TSR il HATER 10% T x% 1 B2 a1 @ 3R BLKR
39 71,224 ° AT A1 €1 S9N x 1 HH 1 872

(1) 5% 2) 10% 3) 15%  (4) 20%
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A fan is listed at ¥ 1500 and a discount of 20% is
offered on the list price. What additional discount
must be offered to the customer to bring the net price
toI 1104 7

T U@ H G Jed 1500 T T IR I oI R 20%
FI Hdl I S @1 fFET Wew Wt fHa sifafem
FAt q WU dqlMR SHHRT Y5 HeT 1104 T W2
SQ 7

(1) 8% (2) 10% 3) 12%  (4) 15%
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To complete a work, A takes 50% more time than B.
If together they take 18 days to complete the work,
how much time shall B take to do it ?

fredl *& = QW FH H A, B 9 50% 4% 97T ol
g1 A% faereht o 39 %1 &1 18 T ¥ @@ X, @1 B 21
39 foRad w9g | qU Kam ?

(1) 30 days / f&A (2) 35 days / f&d

(3) 40 days / f&A (4) 45 days / f&A




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

To do a certain work, B would take time thrice as
long as A and C together and C twice as long as A and
B together. The three men together complete the work
in 10 days. The time taken by A to complete the work
separately is

U Y HH H B FHI, AT CF TH-91Y FIA hi gol
Y TR THT T @ IR C I, A 9T B& UH WY M
T T qAT H AT 9T T 8| GRJER, A i1 sate
ThH-1¥ 39 HH 10 T § Q0 HT <d 2, O HAehel
Al 98 ®& QU KEH ° fohar awg o ?

(1) 22 days / f&A (2) 24 days / T&=

(3) 30 days / &= (4) 20 days / f&A




